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NEW QUESTION 1
An enterprise-wide strategic plan has been approved by the board of directors. Which of the following would BEST support the planning of IT investments required
for the enterprise?

A. Service-oriented architecture
B. Enterprise architecture (EA)
C. Contingency planning
D. Enterprise balanced scorecard

Answer: B

NEW QUESTION 2
Which of the following roles should approve major IT purchases to help prevent conflicts of interest?

A. IT steering committee
B. Chief information officer (CIO)
C. Chief compliance officer
D. Project management office (PMO)

Answer: A

NEW QUESTION 3
An enterprise is planning to outsource data processing for personally identifiable information (Pll). When is the MOST appropriate time to define the requirements
for security and privacy of information?

A. When issuing requests for proposals (RFPs)
B. After an assessment of the current information architecture .
C. When developing service level agreements (SLAs)
D. During the initial vendor selection process

Answer: A

NEW QUESTION 4
Which of the following is the BEST method for making a strategic decision to invest in cloud services?

A. Prepare a business case.
B. Prepare a request for information (RFI),
C. Benchmarking.
D. Define a balanced scorecard.

Answer: A

NEW QUESTION 5
When developing an IT strategic plan that supports an enterprise's business goals which of the following should be done FIRST?

A. Ensure that IT drives business goals
B. Analyze benchmarking data
C. Understand the current vision
D. Perform a business impact analysis (BIA)

Answer: C

NEW QUESTION 6
An executive sponsor of a partially completed IT project has learned that the financial assumptions supporting the project have changed. Which of the following
governance actions should be taken FIRST?

A. Schedule an interim project review.
B. Request a risk assessment.
C. Re-evaluate the project in the portfolio.
D. Request an update to the business case

Answer: A

NEW QUESTION 7
Which of the following is the MOST important consideration when developing a new IT service'?

A. Return on investment (ROI)
B. Resource requirements.
C. Service level agreements (SLAs)
D. Economies of scale

Answer: A
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NEW QUESTION 8
The BEST way to manage continuous improvement of governance-related processes is to:

A. assess existing process resource capacities.
B. define accountability based on roles and responsibilities.
C. apply effective quality management practices.
D. require third-party independent reviews.

Answer: C

NEW QUESTION 9
Which of the following would be the BEST long-term solution to address the concern regarding loss of expenenced staff?

A. implement knowledge management practices
B. Establish a mentoring program for IT staff
C. Determine key risk indicators (KRIs)
D. Retain key staff as consultants.

Answer: A

NEW QUESTION 10
Results of an enterprise's customer survey indicate customers prefer using mobile applications. However, this same survey shows the enterprise's mobile
applications are considered inferior compared to legacy browser-based applications. Which of the following should be the FIRST step in creating an effective long-
term mobile application strategy?

A. Establish service level agreements (SLAs) with the development team.
B. Identify key risks and mitigation strategies for mobile applications.
C. Implement key performance indicators (KPIs) that include application quality.
D. Identify business requirements concerning mobile applications.

Answer: D

NEW QUESTION 10
Which of the following BEST reflects mature risk management in an enterprise?

A. A regularly updated risk register
B. Ongoing risk assessment
C. Ongoing investment in risk mitigation
D. Responsive risk awareness culture

Answer: D

NEW QUESTION 13
Which of the following should be the FIRST step in updating an IT strategic plan?

A. Revise the enterprise architecture (EA).
B. Review IT performance objectives and indicators.
C. Evaluate IT capabilities and resources.
D. Identify changes in enterprise goals.

Answer: D

NEW QUESTION 18
An IT manager is trying to determine optimal IT service levels. Which of the following should be the PRIMARY consideration?

A. Internal rate of return
B. Recovery time objective (RTO)
C. Cost-benefit analysis
D. Resource utilization analysis

Answer: C

NEW QUESTION 22
A regulatory audit assessed an enterprise's main transactional application as noncompliant. In addition to fines and required corrections, an agreement was
reached to implement a set of governance controls over IT. Accountability for these controls is BEST assigned to which of the following?

A. CIO
B. Internal audit director
C. Application users
D. The board of directors

Answer: D

NEW QUESTION 24
A data governance strategy has been defined by the IT strategy committee which includes privacy objectives related to access controls, authorized use. and data
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collection. Which of the following should the committee do NEXT?

A. Mandate data privacy training for employees.
B. Establish a data privacy budget
C. Perform a data privacy impact assessment.
D. Mandate the creation of a data privacy policy.

Answer: D

NEW QUESTION 25
The FIRST step in aligning resource management to the enterprise's IT strategic plan would be to

A. develop a responsible, accountable, consulted and informed (RACI) chart
B. assign appropriate roles and responsibilities
C. perform a gap analysis
D. identify outsourcing opportunities

Answer: C

NEW QUESTION 26
Which of the following is the MOST valuable input when quantifying the loss associated with a major risk event?

A. Key risk indicators (KRIs)
B. IT environment threat modeling
C. Business impact analysis (BIA) report
D. Recovery time objectives (RTOs)

Answer: C

NEW QUESTION 28
Communicating which of the following to staff BEST demonstrates senior management's commitment to IT governance?

A. Legal and regulatory requirements
B. Approved IT investment opportunities
C. Objectives and responsibilities
D. Need for enterprise architecture (EA)

Answer: C

NEW QUESTION 29
Which of the following provides the BEST evidence of effective IT governance?

A. Cost savings and human resource optimization
B. Business value and customer satisfaction
C. IT risk identification and mitigation
D. Comprehensive IT policies and procedures

Answer: B

NEW QUESTION 33
Which of the following is the MOST appropriate mechanism for measuring overall IT organizational performance?

A. IT portfolio return on investment (ROI)
B. Maturity model
C. IT balanced scorecard
D. Service level metrics

Answer: C

NEW QUESTION 34
An enterprise experiencing issues with data protection and least privilege is implementing enterprise-wide data encryption in response. Which of the following is
the BEST approach to ensure all business units work toward remediating these issues?

A. Develop key performance indicators (KPIs) to measure enterprise adoption.
B. Integrate data encryption requirements into existing and planned projects.
C. Assign owners for data governance initiatives.
D. Mandate the creation of a data governance framework.

Answer: B

NEW QUESTION 36
A large financial institution is considering outsourcing customer call center operations which will allow the chosen vendor to access systems from offshore
locations. Which of the following represents the GREATEST risk?

A. Inconsistent customer service and reporting
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B. Loss of data confidentiality
C. Lack of network availability
D. Inadequate business continuity planning

Answer: B

NEW QUESTION 39
An IT department outsourced application support and negotiated service level agreements (SLAs) directly with the vendor Although the vendor met the SLAs
business owner expectations are not met and senior management cancels the contract This situation can be avoided in the future by:

A. improving the business requirements gathering process
B. improving the negotiation process for service level agreements (SLAs)
C. implementing a vendor performance scorecard
D. assigning responsibility for vendor management

Answer: A

NEW QUESTION 43
An enterprise's executive team has recently released a new IT strategy and related objectives. Which of the following would be the MOST effective way for the CIO
to ensure IT personnel are supporting the new strategy's objectives?

A. Measure progress towards IT objectives and communicate the results to IT staff.
B. Incorporate IT objectives into individual performance evaluations.
C. Develop communication materials to promote the new IT strategy and objectives.
D. Require IT managers to assign activities aligned to the IT objectives.

Answer: D

NEW QUESTION 45
Which of the following components of a policy BEST enables the governance of enterprise IT?

A. Disciplinary actions
B. Regulatory requirements
C. Roles and responsibilities
D. Terms and definitions

Answer: C

NEW QUESTION 47
Which of the following is the PRIMARY purpose of information governance?

A. To develop control procedures that help ensure information is adequately protected throughout its life cycle
B. To monitor the processes that deliver and enhance the value of information assets
C. To set direction for information management capabilities through prioritization and decision making
D. To ensure regulatory compliance is maintained while optimizing the utilization of information

Answer: A

NEW QUESTION 51
A business has outsourced IT operations to several third-party providers, but service level agreements (SLAs) are not clearly defined in all cases. Which of the
following is the GREATEST risk to the business?

A. Costs are not measurable.
B. Third parties could provide overlapping services.
C. The scope of work is not clearly defined.
D. Quality of services is not enforceable.

Answer: D

NEW QUESTION 54
When developing a business case for an enterprise resource planning (ERP) implementation, which of the following, if overlooked, causes the GREATEST impact
to the enterprise?

A. Vendor selection
B. Salvage value of legacy hardware
C. Interdependent systems
D. IT best practices

Answer: C

NEW QUESTION 57
Which of the following is the PRIMARY purpose of an effective set of key risk indicators (KRIs)?

A. Identifying possible future adverse impacts on the enterprise
B. Evaluating existing technology for risk monitoring capabilities
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C. Establishing executive level buy-in of the risk program
D. Quantifying the productivity of the risk management team

Answer: A

NEW QUESTION 60
From an IT governance perspective, establishing performance measurements is PRIMARILY the responsibility of:

A. the IT architecture review board.
B. senior management.
C. the board of directors.
D. enterprise risk management (ERM).

Answer: C

NEW QUESTION 63
An enterprise is planning a change in business direction. As a result, IT risk will significantly increase. Which of the following should be the GO'S FIRST course of
action?

A. Recommend delaying the business change.
B. Implement IT changes to align with the plan.
C. Report the risk to executive management
D. Plan for the corresponding IT reorganization.

Answer: C

NEW QUESTION 67
Which of the following responsibilities should be retained within an enterprise when outsourcing a project management office (PMO) function?

A. Selecting projects
B. Managing projects
C. Tracking project cost
D. Defining project methodology

Answer: A

NEW QUESTION 69
When deciding to develop a system with sensitive data, which of the following is MOST important to include in a business case?

A. A risk assessment to determine the appropriate controls
B. Updated enterprise architecture (EA)
C. Skills gap analysis
D. The additional cost of encrypting sensitive data

Answer: D

NEW QUESTION 70
Senior management wants to expand offshoring to include IT services as other types of business offshoring have already resulted in significant financial benefits
for the enterprise. The CIO is currently midway through a successful five-year strategy that relies heavily on internal IT resources. What should the CIO do NEXT?

A. Reevaluate the offshoring strategy.
B. Abandon the current IT strategy.
C. Continue with the existing IT strategy.
D. Reevaluate the current IT strategy.

Answer: D

NEW QUESTION 74
When determining the optimal IT service levels to support business, which of the following is MOST important?

A. IT capacity utilization and availability.
B. Cost/benefit to the business.
C. Available IT budget.
D. Business user requests

Answer: B

NEW QUESTION 79
A CIO just received a final audit report that indicates there is inconsistent enforcement of the enterprise's mobile device acceptable use policy throughout all
business units. Which of the following should be the FIRST step to address this issue?

A. Incorporate compliance metrics into performance goals.
B. Review the relevance of existing policy.
C. Mandate awareness training for all mobile device users.
D. Implement controls to enforce the policy.
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Answer: B

NEW QUESTION 80
The CIO of a financial services company is tasked with ensuring IT processes are in compliance with recently instituted regulatory changes. The FIRST course of
action should be to:

A. align IT project portfolio with regulatory requirements.
B. create an IT balanced scorecard.
C. identify the penalties for noncompliance.
D. perform a current state assessment.

Answer: D

NEW QUESTION 84
An enterprise embarked on an aggressive strategy requiring the implementation of several large IT projects impacting multiple business processes across all
departments. Initially employees were supportive of the strategy, but there is growing fatigue and frustration with the ongoing new capabilities which must be
learned. Which of the following would be the BEST action performed by senior management?

A. Incorporate an organizational change management program.
B. Establish "Reward and Recognition" efforts to boost employee morale.
C. Improve the system development life cycle (SDLC) process.
D. Assess current business and IT competencies.

Answer: B

NEW QUESTION 86
A retail enterprise has cost reduction as its top priority. From a governance perspective, which of the following should be the MOST important consideration when
evaluating different IT investment options?

A. Support for increased sales
B. Risk associated with each option
C. Industry best practices
D. Business value impact

Answer: D

NEW QUESTION 89
A strategic systems project was implemented several months ago. Which of the following is the BEST reference for the IT steering committee as they evaluate its
level of success?

A. Stakeholder satisfaction surveysB The project's net present value (NPV)
B. The project's business case
C. Operating metrics of the new system

Answer: A

NEW QUESTION 91
What should be done FIRST when feedback indicates recently implemented software products are not meeting business unit expectations?

A. Review help desk logs.
B. Confirm user acceptance testing (UAT) was completed.
C. Request a gap analysis.
D. Institute a new software training program

Answer: B

NEW QUESTION 94
IT maturity models measure:

A. performance.
B. value.
C. capabilities.
D. outcome.

Answer: C

NEW QUESTION 99
Of the following, who should be responsible for ensuring the regular review of quality management performance against defined quality metrics?

A. Process owners
B. Risk management team
C. Internal auditors
D. Executive management

Answer: A
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NEW QUESTION 104
An IT steering committee is evaluating whether a third-party supplier is delivering the correct level of service Reviewing which of the following will provide the BEST
information to the committee?

A. Key performance indicators (KPIs)
B. Service portfolio management
C. Vendor status reports
D. Operational cost reduction reports

Answer: B

NEW QUESTION 107
An enterprise has finalized a major acquisition and a new business strategy in line with stakeholder needs has been introduced To help ensure continuous
alignment of IT with the new business strategy the CiO should FIRST

A. review the existing IT strategy against the new business strategy
B. revise the existing IT strategy to align with the new business strategy
C. establish a new IT strategy committee for the new enterprise
D. assess the IT cultural aspects of the acquired entity

Answer: A

NEW QUESTION 109
An enterprise has learned of a new regulation that may impact delivery of one of its core technology services Which of the following should the done FIRST?

A. Update the risk management framework
B. Determine whether the board wants to comply with the regulation
C. Assess the risk associated with the new regulation
D. Request an action plan from the risk team

Answer: C

NEW QUESTION 113
Risk management strategies are PRIMARILY adopted to:

A. avoid risks for business and IT assets.
B. take necessary precautions for claims and losses.
C. achieve acceptable residual risk levels.
D. achieve compliance with legal requirements.

Answer: C

NEW QUESTION 117
Which of the following should be done FIRST when defining responsibilities for ownership of information and systems?

A. Require an information risk assessment.
B. Identify systems that are outsourced.
C. Ensure information is classified.
D. Require an inventory of information assets.

Answer: D

NEW QUESTION 119
The CIO of a large enterprise has taken the necessary steps to align IT objectives with business objectives. What is the BEST way for the CIO to ensure these
objectives are delivered effectively by IT staff?

A. Map the IT objectives to an industry-accepted framework.
B. Enhance Ihe budget for training based on the IT objectives.
C. Include the IT objectives in staff performance plans.
D. Include CIO sign-off of the objectives as part of the IT strategic plan.

Answer: B

NEW QUESTION 121
Which of the following would be the MOST effective way to ensure IT capabilities are appropriately aligned with business requirements for specific business
processes?

A. Establishing key performance indicators {KPIs)
B. Requiring Internal IT architecture and design reviews
C. Requiring architecture and design reviews with business process stakeholders
D. Issuing a management mandate that IT and business process stakeholders work together

Answer: D
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NEW QUESTION 126
Which of the following should be the MAIN governance focus when implementing a newly approved bring your own device (BYOD) policy?

A. Recommending mobile applications that will increase business productivity
B. Training employees on the enterprise's chosen mobile device management system
C. Educating employees on the increased IT security risk to the enterprise
D. Understanding knowledge gaps of IT employees to support different mobile platforms

Answer: C

NEW QUESTION 131
Which of the following is the MOST important aspect of business ethics?

A. Ensuring fair and consistent vendor management practices
B. Providing equal opportunities to employees
C. Protecting stakeholders' interests
D. Complying with legal and regulatory requirements

Answer: C

NEW QUESTION 132
The board of directors has mandated the use of geolocation software to track mobile assets assigned to employees who travel outside of their home country. To
comply with this mandate, the IT steering committee should FIRST request

A. the inclusion of mandatory training for remote device users.
B. an architectural review to determine appropriate solution design.
C. an assessment to determine if data privacy protection is addressed.
D. an update to the acceptable use policy.

Answer: C

NEW QUESTION 134
An internal audit revealed a widespread perception that the enterprise's IT governance reporting lacks transparency Which of the following should the CIO do
FIRST?

A. Add stakeholder transparency metrics to the balanced scorecard
B. Develop a communication and awareness strategy
C. Meet with key stakeholders to understand their concerns
D. Adopt an industry-recognized template to standardize reports.

Answer: C

NEW QUESTION 138
Which of the following should be the MOST important consideration when designing an implementation plan for IT governance?

A. Principles and policies
B. Roles and responsibilities
C. Risk tolerance levels
D. Organizational culture

Answer: D

NEW QUESTION 141
The PRIMARY benefit of using an IT service catalog as part of the IT governance program is that it.

A. ensures IT effectively meets future business needs,
B. provides a foundation for measuring IT performance,
C. improves the ability to allocate IT resources
D. establishes enterprise performance metrics per service

Answer: A

NEW QUESTION 145
An enterprise is implementing a new IT governance program. Which of the following is the BEST way to increase the likelihood of its success?

A. The IT steering committee approves the implementation efforts.
B. The CIO communicates why IT governance is important to the enterprise.
C. Implementation follows an IT audit recommendation.
D. The CIO issues a mandate for adherence to the program.

Answer: A

NEW QUESTION 150
When developing an IT governance framework, it is MOST important for an enterprise to consider:
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A. information technology risk.
B. framework development cost.
C. information technology strategy.
D. stakeholders' support.

Answer: D

NEW QUESTION 154
A business is considering a policy to anonymize personal data in enterprise systems. Before making a decision, which of the following is MOST important for the IT
steering committee to consider?

A. Business impact analysis (BIA) results
B. Regulatory requirements
C. Sustainability costs to the enterprise
D. Potential implementation barriers

Answer: B

NEW QUESTION 157
Which of the following is the PRIMARY ongoing responsibility of the IT governance function related to risk?

A. Responding to and controlling all IT risk events
B. Communicating the enterprise risk management plan
C. Ensuring IT risk management is aligned with business risk appetite
D. Verifying that all business units have staff skilled at assessing risk

Answer: C

NEW QUESTION 162
Which of the following is the GREATEST benefit of using a quantitative nsk assessment method?

A. It uses resources more efficiently
B. It can be used to assess risks against non-tangible assets
C. It reduces subjectivity
D. It helps in prioritizing risk response action plans

Answer: C

NEW QUESTION 167
Which of the following provides the BEST evidence of an IT risk-aware culture across an enterprise?

A. Business staff report identified IT risks.
B. IT risks are communicated to the business.
C. IT risk-related policies are published.
D. The IT infrastructure is resilient.

Answer: A

NEW QUESTION 171
Business management is seeking assurance from the CIO that controls are in place to help minimize the risk of critical IT systems being unavailable during month-
end financial processing. What is the BEST way to address this concern?

A. Create a communication plan with risk owners.
B. Outsource infrastructure hosting.
C. Restrict and monitor user access.
D. Develop key risk indicators (KRIs) and action plans.

Answer: D

NEW QUESTION 172
Due to the recent introduction of personal data protection regulations, an enterprise is required to maintain its employee data in production systems only for a
limited time. Which of the following is MOST important to review?

A. Asset retention policies
B. Information retention policies
C. Data archival policies
D. Data backup and restoration policies

Answer: C

NEW QUESTION 176
The BEST way to ensure an IT steering committee meets enterprise objectives is to:

A. require a member of the committee to have IT governance expertise.
B. benchmark against industry best practices.
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C. establish key performance indicators (KPIs).
D. have key business stakeholders represented on the committee.

Answer: D

NEW QUESTION 180
An IT risk committee is trying to mitigate the risk associated with a newly implemented bring your own device (BYOD) policy and supporting mobile device
management (MDM) tools. Which of the following would be the BEST way to ensure employees understand how to protect sensitive corporate data on their mobile
devices?

A. Require staff to complete security awareness training
B. Develop security procedures for mobile devices.
C. Distribute the BYOD policy on the company Intranet.
D. Require staff to review and sign nondisclosure agreements (NDAs)

Answer: A

NEW QUESTION 183
Which of the following should be the PRIMARY consideration for an enterprise when prioritizing IT projects?

A. Technical capability of the enterprise to execute the projects
B. Process owner expectations based on operational benefits
C. Results of IT performance benchmarks against competitors
D. Impact on the business due to expected project outcomes

Answer: D

NEW QUESTION 184
An enterprise is determining the objectives for an IT training improvement initiative from a governance prosoectic. it would be MOST important to ensure that:

A. policies and processes address both enterprise requirements and professional growth
B. courses of instruction that will maximize employee productivity are identified
C. several different training strategies are created for final approval by the CIO
D. IT employees are surveyed and interviewed to identify development needs

Answer: A

NEW QUESTION 186
Which of the following would be of MOST concern regarding the effectiveness of risk management processes?

A. Key risk indicators (KRIs) are not established.
B. Risk management requirements are not included in performance reviews.
C. The plans and procedures are not updated on an annual basis.
D. There is no framework to ensure effective reporting of risk events.

Answer: A

NEW QUESTION 189
The BEST time to identity metrics to measure the performance of an IT-enabled investment is during:

A. system implementation
B. project initiation
C. investment feasibility analysis
D. business case development.

Answer: D

NEW QUESTION 190
Which of the following has PRIMARY responsibility to define the requirements for IT service levels for the enterprise?

A. The business manager
B. The help desk
C. The CIO
D. The business continuity vendor

Answer: A

NEW QUESTION 195
Enterprise IT has overseen the implementation of an array of data services with overlapping functionality leading to business inefficiencies. Which of the following
is the MOST likely cause of this situation?

A. insufficient information architecture
B. Ineffective project management
C. An outdated service level agreement (SLA)
D. An incomplete cost-benefit analysis
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Answer: A

NEW QUESTION 200
The PRIMARY reason for periodically evaluating IT resource staffing requirements is to:

A. ascertain the IT function has sufficient skilled staff to maintain daily operations.
B. ensure the enterprise has sufficient resources to address changing business and IT needs.
C. verify that human resource recruitment and retention processes meet enterprise IT objectives.
D. confirm IT-related responsibilities are defined for the enterprise's business and IT staff.

Answer: B

NEW QUESTION 201
Which of the following is the BEST approach when reviewing The security status of a new business acquisition?

A. Embed IT risk management strategies in service level agreements (SLAs).
B. Establish a committee to oversee the alignment of IT security in new businesses.
C. Incorporate IT security objectives to cover additional risks associated with new businesses.
D. Integrate IT risk assessment into the overall due diligence process.

Answer: D

NEW QUESTION 205
Which of the following BEST supports an enterprise's ability to comply with privacy laws and regulations?

A. Complete inventory of enterprise data
B. Implementation of a breach notification process
C. Accurate classification of enterprise data
D. Robust enterprise policy related to data retention

Answer: C

NEW QUESTION 208
A business case indicates an enterprise would reduce costs by implementing a bring your own device (BYOD) program allowing employees to use personal
devices for email. Which of the following should be the FIRST governance action?

A. Assess the enterprise architecture (EA).
B. Update the network infrastructure.
C. Update the BYOD policy.
D. Assess the BYOD risk.

Answer: D

NEW QUESTION 212
To develop appropriate measures to improve organizational performance, the measures MUST be:

A. a result of benchmarking and comparative analysis.
B. accepted by and meaningful to the stakeholders.
C. based on existing and validated data sources.
D. approved by the IT steering committee.

Answer: B

NEW QUESTION 216
What is the BEST way for an IT governance board to establish standards of behavior for the adoption of artificial intelligence (Al)?

A. Direct the creation and approval of an ethical use policy.
B. Review and update the data privacy policy to align with industry standards.
C. Include specific ethics clauses in vendor agreements and contracts.
D. Include ethics topics within onboarding and awareness training.

Answer: C

NEW QUESTION 217
To minimize the potential mishandling of customer personal information in a system located in a country with strict privacy regulations which of the following is the
BEST action to take?

A. Update the information architecture
B. Revise the IT strategic plan
C. Implement data loss prevention (DLP)
D. Establish new IT key risk indicators (KRIs)

Answer: A
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NEW QUESTION 221
Which of the following should be the MAIN reason for an enterprise to implement an IT risk management framework?

A. The need to enable IT risk-aware decisions by executives
B. The results of an external audit report concerning IT risk management processes.
C. The need to address market regulations and internal compliance in IT risk
D. The ability to benchmark IT risk policies against major competitors

Answer: A

NEW QUESTION 225
Which of the following is MOST important to the successful implementation of enterprise architecture (EA)?

A. Developing data modeling tools
B. Managing the challenge of change
C. Reducing the cost of IT investments
D. Establishing key performance indicators (KPIs)

Answer: B

NEW QUESTION 227
The PRIMARY reason for implementing an IT governance program in an enterprise is to

A. balance the demand for information and the ability to deliver.
B. comply with regulatory requirements
C. reduce risks due to improved compensating controls.
D. decrease the scale of investment in information systems due to budgetary controls.

Answer: A

NEW QUESTION 229
Which of the following is MOST important to effectively initiate IT-enabled change?

A. Establish a change management process.
B. Obtain top management support and ownership.
C. Ensure compliance with corporate policy.
D. Benchmark against best practices.

Answer: A

NEW QUESTION 233
Which of the following is the BEST way to address an IT audit finding that many enterprise application updates lack appropriate documentation?

A. Enforce change control procedures.
B. Conduct software quality audits
C. Review the application development life cycle.
D. Add change control to the risk register.

Answer: B

NEW QUESTION 236
During an IT strategy review, a new CIO determined that numerous important internal processes have not been updated for several years and should be
reexamined. Which of the following would be the BEST approach to address this concern?

A. Implement a process review policy.
B. Assemble a project review team
C. Verify that the processes are still needed
D. Map the processes to a capability maturity model.

Answer: C

NEW QUESTION 237
Which of the following is an ADVANTAGE of using strategy mapping?

A. It provides effective indicators of productivity and growth.
B. It depicts the maturity levels of processes that support organizational strategy.
C. It identifies barriers to strategic alignment and links them to specific outcomes.
D. It depicts the cause-and-effect linked relationships between strategic objectives.

Answer: D

NEW QUESTION 241
In an enterprise that has worldwide business units and a centralized financial control model, which of the following is a barrier to strategic alignment of business
and IT?
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A. Each business unit has its own steering committee for IT investment and prioritization.
B. Uniform portfolio management is in place throughout the business units.
C. IT is the exclusive provider of IT services to the business units.
D. The enterprise's CIO is a member of the executive committee.

Answer: A

NEW QUESTION 246
......
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